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‌So,‌ ‌we‌ ‌are‌ ‌looking‌ ‌at‌ ‌friction‌ ‌flow‌ ‌compressible‌ ‌flow‌‌with‌‌friction‌‌it‌‌is‌‌also‌‌known‌‌as‌‌the‌‌                                   

Fanno‌‌flow.‌‌And‌‌in‌‌the‌‌previous‌‌class‌‌we‌‌looked‌‌at‌‌the‌‌thermodynamics‌‌of‌‌this‌‌flow‌‌with‌‌the‌‌                                 

help‌ ‌of‌ ‌Tminuss‌ ‌diagrams.‌ ‌And‌ ‌it‌ ‌is‌ ‌very‌ ‌useful‌ ‌to‌ ‌look‌‌at‌‌it‌‌because‌‌it‌‌tells‌‌you‌‌the‌‌entire‌‌                                     

story.‌ ‌In‌ ‌this‌ ‌flow,‌ ‌it‌ ‌is‌ ‌an‌ ‌adiabatic‌ ‌flow‌ ‌therefore‌ ‌ constant.‌ ‌And‌ ‌you‌ ‌have‌ ‌a‌ ‌curve‌‌                    T 0 =            

which‌ ‌is‌ ‌of‌ ‌this‌ ‌particular‌ ‌shape‌ ‌qualitatively‌ ‌where‌ ‌you‌ ‌have‌ ‌2‌ ‌branches.‌‌ ‌  

‌ 

And‌ ‌the‌ ‌upper‌ ‌branch‌ ‌is‌ ‌the‌ ‌flow‌ ‌where‌ ‌Mach‌ ‌number‌ ‌is‌ ‌less‌ ‌than‌ ‌1‌ ‌it‌ ‌is‌‌a‌‌subsonic‌‌flow.‌‌                                     

While‌ ‌the‌ ‌lower‌ ‌branch‌‌the‌‌Mach‌‌number‌‌is‌‌greater‌‌than‌‌1‌‌or‌‌is‌‌a‌‌supersonic‌‌flow.‌‌And‌‌the‌‌                                   

critical‌‌point‌‌at‌‌which‌‌entropy‌‌is‌‌maximum,‌‌s‌‌is‌‌maximum‌‌is‌‌the‌‌point‌‌where‌‌Mach‌‌number‌‌                               

equal‌‌to‌‌1.‌‌So,‌‌the‌‌flow‌‌proceeds‌‌in‌‌the‌‌duct‌‌if‌‌you‌‌start‌‌from‌‌a‌‌particular‌‌point‌‌here‌‌one‌‌then‌‌                                       

the‌ ‌flow‌ ‌proceeds‌ ‌along‌ ‌the‌ ‌Fanno‌ ‌curve.‌‌ ‌  

‌ 

And‌‌the‌‌flow‌‌can‌‌happen.‌‌So,‌‌essentially‌‌you‌‌are‌‌varying‌‌the‌‌length‌‌of‌‌the‌‌duct.‌‌So,‌‌you‌‌can‌‌                                   

have‌ ‌different‌ ‌points‌ ‌on‌ ‌this‌ ‌flow‌ ‌at‌ ‌the‌ ‌exit‌ ‌of‌ ‌the‌ ‌duct.‌ ‌So,‌ ‌this‌ ‌is‌ ‌say‌ ‌point‌ ‌2.‌ ‌So,‌ ‌in‌ ‌a‌‌                                         

subsonic‌ ‌flow‌ ‌velocity‌ ‌increases,‌ ‌Mach‌ ‌number‌ ‌increases,‌ ‌pressure,‌ ‌temperature‌ ‌decrease,‌‌                   

entropy‌‌increases‌‌correspondingly‌‌stagnation‌‌pressure‌‌decreases.‌‌But‌‌in‌‌a‌‌supersonic‌‌flow‌‌the‌‌                       

Mach‌ ‌number‌ ‌decrease,‌ ‌velocity‌ ‌decreases,‌ ‌pressure,‌ ‌temperature‌ ‌will‌ ‌increase.‌ ‌And‌‌                   

stagnation‌ ‌pressure‌ ‌of‌ ‌course‌ ‌will‌ ‌decrease‌ ‌because‌ ‌even‌ ‌here‌ ‌the‌ ‌entropy‌ ‌increases.‌ ‌ 

‌ 

And‌ ‌since‌ ‌it‌ ‌is‌ ‌an‌ ‌adiabatic‌ ‌flow‌‌and‌‌entropy‌‌cannot‌‌decrease‌‌there‌‌is‌‌only‌‌one‌‌direction‌‌in‌‌                                 

which‌ ‌this‌ ‌flow‌ ‌can‌ ‌occur‌ ‌you‌ ‌can‌ ‌only‌ ‌start‌ ‌from‌ ‌an‌ ‌initial‌ ‌subsonic‌‌flow‌‌continues‌‌to‌‌be‌‌                                 

subsonic‌‌at‌‌the‌‌maximum‌‌it‌‌can‌‌reach‌‌Mach‌‌number‌‌equal‌‌to‌‌1.‌‌Similarly‌‌if‌‌you‌‌start‌‌with‌‌the‌‌                                   

supersonic‌ ‌flow‌ ‌then‌ ‌Mach‌ ‌number‌ ‌decreases,‌ ‌the‌ ‌Fanno‌ ‌curve‌ ‌or‌ ‌Fanno‌ ‌flow‌ ‌drives‌ ‌it‌‌                           

towards‌ ‌Mach‌ ‌number‌ ‌1‌ ‌and‌ ‌maximum‌ ‌it‌ ‌can‌ ‌achieve‌ ‌is‌ ‌Mach‌ ‌number‌ ‌=‌ ‌1.‌ ‌So,‌ ‌we‌ ‌have‌‌                                 

understood‌ ‌this‌ ‌qualitative‌ ‌picture‌ ‌and‌ ‌how‌ ‌variables‌ ‌are‌ ‌interrelated.‌‌ ‌  
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‌ 

Now‌‌let‌‌us‌‌get‌‌a‌‌little‌‌bit‌‌more‌‌quantitative‌‌and‌‌get‌‌to‌‌the‌‌flow‌‌equations.‌‌Towards‌‌the‌‌end‌‌of‌‌                                     

the‌ ‌lecture‌ ‌we‌ ‌had‌ ‌come‌ ‌to‌ ‌this‌ ‌particular‌ ‌expression,‌ ‌ 

dp‌ ‌+‌  ‌  ‌=‌ ‌0‌ ‌V  dVρ   dx+ 2
  ρV  

2

D
4f ′  

‌ 

‌This‌‌is‌‌the‌‌differential‌‌equation‌‌for‌‌a‌‌small‌‌volume‌‌dx‌‌in‌‌the‌‌long‌‌pipe,‌‌for‌‌this‌‌small‌‌volume.‌‌                                     

Now‌ ‌what‌ ‌we‌ ‌can‌ ‌do‌ ‌over‌ ‌here‌ ‌is‌ ‌now‌ ‌we‌ ‌want‌ ‌to‌ ‌express‌ ‌everything‌ ‌in‌ ‌terms‌ ‌of‌ ‌Mach‌‌                                   

number.‌‌ ‌  

‌ 

So,‌‌we‌‌will‌‌try‌‌to‌‌do‌‌that.‌‌And‌‌for‌‌this‌‌what‌‌we‌‌do‌‌is‌‌divide‌‌the‌‌entire‌‌equation‌‌by‌‌P.‌‌So,‌‌it‌‌is‌‌                                             

divided‌‌by‌‌P.‌‌And‌‌we‌‌can‌‌use‌‌the‌‌fact‌‌that‌ ‌ .‌‌So,‌‌we‌‌can‌‌use‌‌that‌‌fact.‌‌So,‌‌here‌‌if‌‌at‌‌                    a2 =   ρ
γP                      

this‌ ‌point‌ ‌you‌ ‌multiply‌ ‌and‌ ‌divide‌ ‌by‌ ‌V,‌  ‌ .‌ ‌dV   γM   γPV
  γρV  

2

=    
2

V
dV  

So‌ ‌ .‌ ‌ ‌   γM  
2

V
dV    

.‌ ‌   ‌+‌ =‌ ‌0‌ ‌P
dP   dx+ 2

  γM  
2

D
4f ′    γM  

2
V
dV  

‌ 

Now‌‌we‌‌use‌‌the‌‌fact‌‌that‌‌ρV‌‌=‌‌constant‌‌.‌‌And‌‌V‌‌can‌‌be‌‌expressed‌‌in‌‌terms‌‌of‌‌Mach‌‌number.‌‌                                       

So,‌ ‌ρ‌ ‌M‌ ‌a‌ ‌=‌ ‌constant.‌ ‌While‌  ‌ρ‌ ‌=‌ ‌ ,‌ ‌a‌ ‌=‌ ,‌   ‌  ‌M‌ ‌  ‌=‌ ‌constant‌‌ ‌P
RT  √γRT P

RT  √γRT   

So,‌‌ ‌ =‌‌constant,‌‌this‌‌constant‌‌from‌‌here‌‌using‌‌a‌‌logarithmic‌‌differentiation‌‌that‌‌is‌‌   √γ
R    (√T

PM )                        

you‌ ‌take‌ ‌a‌ ‌logarithm.‌‌ ‌  

‌ 

And‌ ‌differentiate‌ ‌you‌ ‌can‌ ‌get,‌ ‌ 



‌   P
dP =   2

1
T
dT −   M

dM  

‌ 

‌So,‌ ‌which‌ ‌is‌ ‌the‌ ‌expression‌ ‌given‌ ‌here‌ ‌and‌ ‌now‌ ‌there‌‌is‌‌an‌‌expression‌‌for‌‌ ‌in‌‌terms‌‌of‌‌                              P
dP        

.‌ ‌And‌ ‌also‌ ‌  ‌occurs‌ ‌here.‌ ‌M
dM

T
dT  
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‌ 

And‌ ‌we‌ ‌can‌ ‌we‌ ‌express‌ ‌ in‌ ‌terms‌ ‌of‌ ‌ ‌only‌ ‌this‌ ‌can‌ ‌be‌ ‌done‌ ‌because‌ ‌we‌ ‌have‌ ‌the‌‌          T
dT       M

dM                    

definition‌‌of‌‌Mach‌‌number‌‌also‌‌that‌‌is‌‌because‌‌there‌‌is‌‌a‌‌term‌‌ ‌here.‌‌So,‌‌ ‌can‌‌also‌‌be‌‌                        V
dV       V

dV        

expressed‌ ‌in‌ ‌terms‌ ‌of‌ ‌  ‌because‌ ‌V‌ ‌=Ma,‌ ‌a‌ ‌=‌ .‌ ‌So,‌ ‌we‌ ‌get,‌ ‌T
dT  √γRT  

‌ V
dV =   M

dM +   2
1

T
dT  

 ‌Substituting‌ ‌these‌ ‌quantities‌ ‌and‌ ‌taking‌ ‌the‌ ‌  ‌term‌ ‌common.‌‌ ‌T
dT   

‌ 

So,‌ ‌that‌ ‌is‌ ‌considered‌ ‌taken‌ ‌common.‌ ‌And‌ ‌on‌ ‌the‌ ‌left‌ ‌hand‌ ‌side‌ ‌we‌ ‌take‌ ‌only‌ ‌the‌ ‌term‌‌                                 

corresponding‌‌to‌‌friction‌‌ ‌.‌‌And‌‌we‌‌express‌‌all‌‌the‌‌others‌‌now‌‌come‌‌in‌‌terms‌‌of‌‌Mach‌‌      dxD
4f                            

number.‌ ‌Here‌ ‌you‌ ‌have‌ ‌ ‌.‌ ‌So,‌‌we‌‌express‌‌the‌‌friction‌‌term‌‌in‌‌the‌‌left‌‌hand‌‌side‌‌terms‌‌         
M 2
dM 2

                           

relate‌ ‌to‌ ‌Mach‌ ‌number‌ ‌on‌ ‌the‌ ‌right‌ ‌side.‌ ‌And‌ ‌you‌ ‌have‌ ‌a‌ ‌term‌ ‌  ‌over‌ ‌here.‌ ‌T
dT  

‌ 

  ‌+‌  ‌=‌ ‌0‌ ‌    dx2
1

T
dT −   M

dM +   2
  γM  

2

D
4f ′      γM  

2  ( M
dM +   2

1
T
dT )  

 ‌  ‌  ‌-‌ ‌2‌ ‌dx  D
4f ′ =    − 2

  γM  
2   ( 2

1
T
dT −   M

dM )   ( M
dM +   2

1
T
dT )  

2‌ ‌ ‌=‌ ‌  ‌=‌ ‌ ‌M
dM

  M  
2

2MdM
M 2
dM 2

 



‌ 

‌ ‌  ‌ ‌dxD
4f ′ =    γ

2
M 3
dM  −  

M 2
dM 2

−   T
dT −   1

  γM  
2 T

dT  

‌ 
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‌ 

Now‌ ‌  ‌can‌ ‌be‌ ‌expressed‌ ‌in‌ ‌terms‌ ‌of‌ ‌Mach‌ ‌number‌ ‌only‌ ‌because‌ ‌in‌ ‌this‌ ‌flow‌ ‌T‌0‌‌ ‌is‌ ‌constant,‌‌ ‌T
dT   

T‌0‌‌ ‌=‌ ‌T(1+‌ ‌ )‌‌ ‌ M2
γ 1− 2

  

This‌ ‌is‌ ‌a‌ ‌constant.‌ ‌Now‌ ‌ ‌again‌ ‌you‌ ‌can‌ ‌take‌ ‌a‌ ‌logarithmic‌ ‌differentiation‌ ‌ ‌can‌ ‌be‌‌          T
dT                 T

dT      

expressed‌ ‌in‌ ‌terms,‌ ‌ 

‌T
dT +   1+   M2

γ 1− 2
d(1+   M )2

γ 1− 2

= 0  

‌So,‌‌there‌‌wherever‌‌ ‌was‌‌there‌‌in‌‌the‌‌previous‌‌expression‌‌over‌‌here‌‌and‌‌at‌‌this‌‌particular‌‌        T
dT                          

point‌ ‌we‌ ‌can‌ ‌substitute‌ ‌this‌ ‌term.‌‌ ‌  

‌ ‌  ‌ ‌dxD
4f ′ =    γ

2
M 3
dM  −   M 2

dM 2
+   1+   M2

γ 1− 2
d(1+   M )2

γ 1− 2

+   1
  γM  

2 1+   M2
γ 1− 2

d(1+   M )2
γ 1− 2

 

‌ 

‌ 

And‌ ‌we‌ ‌will‌ ‌be‌ ‌getting‌ ‌these‌ ‌values‌ ‌and‌ ‌here‌ ‌what‌ ‌we‌ ‌need‌ ‌to‌ ‌do‌ ‌is‌ ‌now,‌ ‌this‌ ‌can‌ ‌this‌ ‌is‌‌                                       

expressed‌ ‌entirely‌ ‌in‌ ‌terms‌ ‌of‌ ‌Mach‌ ‌number.‌ ‌Of‌ ‌course‌ ‌in‌ ‌this‌ ‌particular‌ ‌formulation‌ ‌the‌‌                           

calorically‌ ‌perfect‌ ‌gas‌ ‌assumption‌ ‌is‌ ‌taken.‌ ‌So,‌ ‌we‌ ‌are‌ ‌saying‌ ‌that‌ ‌h‌ ‌=‌ ‌C‌P‌ ‌T‌ ‌where‌ ‌Cp‌ ‌is‌‌                                   

constant.‌ ‌So,‌ ‌that‌ ‌is‌‌why‌‌we‌‌are‌‌able‌‌to‌‌do‌‌all‌‌these‌‌calculation‌‌or‌‌all‌‌these‌‌changes‌‌and‌‌we‌‌                                     

can‌ ‌get‌ ‌a‌ ‌closed‌ ‌form‌ ‌solution.‌ ‌ 
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‌ 

And‌ ‌to‌ ‌get‌ ‌the‌ ‌close‌ ‌form‌ ‌solution‌ ‌we‌ ‌have‌ ‌to‌ ‌express‌ ‌this‌ ‌term‌ ‌ ‌terms‌ ‌in‌‌                           1
  γM  

2 1+   M2
γ 1− 2

d(1+   M )2
γ 1− 2

     

terms‌ ‌of‌ ‌partial‌ ‌fractions.‌ ‌And‌ ‌you‌ ‌can‌ ‌do‌ ‌that‌ ‌do‌ ‌the‌ ‌partial‌ ‌fraction‌ ‌expansion‌ ‌of‌ ‌this‌ ‌                               

particular‌ ‌these‌ ‌particular‌ ‌terms‌ ‌plug‌ ‌them‌ ‌in‌ ‌the‌ ‌main‌ ‌equation.‌‌ ‌  

‌ 
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‌ 

And‌ ‌if‌ ‌you‌ ‌do‌ ‌that‌ ‌you‌ ‌get‌ ‌the‌ ‌final‌ ‌momentum‌ ‌equation‌ ‌becomes,‌ ‌ 

‌  

 ‌  ‌ ‌dxD
4f ′ =    γ

2
M 3
dM    – 2γ

γ+1
M 2
dM 2

+   2γ
γ+1

1+   M2
γ 1− 2

d(1+   M )2
γ 1− 2

 

‌ 



‌So,‌‌you‌‌have‌‌three‌‌terms,‌‌they‌‌can‌‌be‌‌completely‌‌integrated‌‌as‌‌you‌‌go‌‌from.‌‌So,‌‌you‌‌have‌‌a‌‌                                     

duct‌‌going‌‌from‌‌length‌‌1‌‌to‌‌2‌‌having‌‌a‌‌length‌‌L.‌‌So,‌‌they‌‌have‌‌to‌‌be‌‌integrated‌‌now‌‌from‌‌1‌‌to‌‌                                         

2.‌ ‌  

So,‌ ‌of‌‌course‌‌f‌‌is‌‌a‌‌variable‌‌here‌‌friction‌‌factor‌‌or‌‌friction‌‌coefficient.‌‌So,‌‌for‌‌this‌‌is‌‌friction‌‌                                   

coefficient‌ ‌for‌ ‌ ‌here.‌‌ varies‌‌very‌‌slowly.‌‌So,‌‌we‌‌can‌‌take‌‌that‌‌the‌‌average‌‌value‌‌of‌‌ or‌‌     f ′      f ′                          f ′  

friction‌‌factor‌‌any‌‌of‌‌them‌‌both‌‌are‌‌constant‌‌along‌‌the‌‌length.‌‌But‌‌we‌‌have‌‌to‌‌take‌‌the‌‌average‌‌                                   

value.‌‌So,‌‌that‌‌can‌‌be‌‌clubbed‌‌together.‌‌So,‌‌that‌‌is‌‌given‌‌the‌‌term‌‌ .‌‌So,‌‌4f‌‌bar‌‌by‌‌D‌‌this‌‌term‌‌                          f                

is‌ ‌actually‌ ‌a‌ ‌constant.‌‌ ‌  

‌ dx   dx    L
1 ∫
x2

x1
D
4f ′ =   D

4f ∫
x2

x1

  =   D
4f L ′  

‌ 

‌ 

 ‌+‌ ‌ ‌      D
4f L ′ = γ

1 [ 1
M 2

1
−   1

M 2
2
]  ln  2γ

γ+1 [ M 1+   M2
1( 2

γ 1− 2
2)

M    1+   M2
2 ( 2

γ 1− 2
1)]  

‌ 

So,‌ ‌you‌ ‌get‌ ‌this‌ ‌closed‌ ‌form‌ ‌solution‌ ‌that‌ ‌expresses‌ ‌change‌ ‌in‌ ‌Mach‌ ‌number‌ ‌as‌ ‌you‌‌move‌‌                               

from‌ ‌an‌ ‌initial‌ ‌entry‌ ‌condition‌ ‌with‌ ‌Mach‌ ‌number‌ ‌M‌1‌,‌ ‌it‌ ‌passes‌ ‌through‌ ‌a‌ ‌duct‌ ‌having‌ ‌a‌‌                               

certain‌ ‌coefficient‌ ‌of‌ ‌friction‌‌ ‌of‌‌length‌‌L‌‌and‌‌at‌‌the‌‌end‌‌it‌‌gets‌‌Mach‌‌number,‌‌it‌‌is‌‌Mach‌‌         f ′                              

number‌ ‌becomes‌ ‌M‌2‌‌ ‌pressures,‌ ‌temperatures‌ ‌everything‌ ‌undergoes‌ ‌a‌ ‌change.‌ ‌ 

‌ 

So,‌ ‌this‌ ‌is‌ ‌the‌ ‌final‌ ‌expression‌ ‌in‌ ‌a‌ ‌closed‌ ‌form‌ ‌solution.‌ ‌So,‌ ‌of‌ ‌course;‌ ‌if‌ ‌you‌‌look‌‌at‌‌this‌‌                                     

expression‌ ‌while‌ ‌you‌ ‌can‌‌actually‌‌solve‌‌if‌‌you‌‌are‌‌given‌‌M‌1‌ ‌then‌‌you‌‌can‌‌solve‌‌and‌‌L.‌‌You‌‌                                   

can‌‌solve‌‌for‌‌M‌2‌ ‌in‌‌principle‌‌.‌‌But‌‌it‌‌is‌‌not‌‌an‌‌easy‌‌equation‌‌to‌‌solve.‌‌So,‌‌iterative‌‌tools‌‌may‌‌                                       

be‌‌needed.‌‌But‌‌a‌‌different‌‌approach‌‌is‌‌used‌‌when‌‌actually‌‌solving‌‌these‌‌problems‌‌which‌‌we‌‌                             

will‌ ‌discuss‌ ‌in‌ ‌a‌ ‌moment‌ ‌before‌ ‌we‌ ‌go‌ ‌there.‌ ‌ 
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‌ 

Let‌ ‌us‌ ‌look‌ ‌at‌ ‌the‌ ‌variables‌ ‌of‌ ‌the‌ ‌flow‌ ‌we‌ ‌are‌ ‌looking‌ ‌for‌ ‌what‌ ‌happens‌ ‌to‌ ‌temperatures‌‌ ‌  

,‌‌ .‌‌So‌‌we‌‌look‌‌at‌‌ ‌first.‌‌Now‌‌because‌‌flow‌‌is‌‌adiabatic‌‌T‌02‌ ‌is‌‌equal‌‌to‌‌T‌01‌ ‌therefore‌‌  T 1

T 2   P 1

P 2           T 1

T 2                          

you‌ ‌can‌ ‌express‌ ‌  ‌in‌ ‌terms‌ ‌of‌  ‌ .‌ ‌So,‌ ‌  ‌can‌ ‌be‌ ‌written‌ ‌as,‌‌ ‌T 1

T 2
T 01

T 02
T 1

T 2   

 ‌=‌ ‌  ‌=‌  ‌ ‌ T 1

T 2 =
T2

T02

T1

T01 1+   M( 2
γ 1− 2

1)
  1+   M( 2

γ 1− 2
2)

2+( γ 1) M( − 2
1)

  2+( γ 1) M( − 2
2)

 

‌ 

What‌‌about‌‌ ‌?‌‌Here‌‌we‌‌cannot‌‌use‌‌isentropic‌‌relations‌‌it‌‌is‌‌not‌‌an‌‌isentropic‌‌flow.‌‌But‌‌we‌‌     P 1

P 2                                

know‌‌that‌‌ρu‌‌=‌‌constant.‌‌And‌‌you‌‌can‌‌express‌‌u‌‌=M‌‌a.‌‌And‌‌a‌‌can‌‌be‌‌expressed‌‌as‌‌ ‌                                    a2 =   ρ
γP  

And‌ ‌also‌ ‌you‌ ‌can‌ ‌use‌ ‌the‌ ‌equation‌ ‌of‌ ‌state‌ ‌P‌ ‌=‌ ‌  ‌RT.‌‌ ‌ρ   

‌ 

So,‌ ‌if‌ ‌you‌ ‌use‌ ‌all‌ ‌of‌ ‌them‌ ‌together‌ ‌you‌ ‌get‌ ‌that‌ ‌you‌ ‌get‌ ‌to‌ ‌the‌ ‌fact‌ ‌that,‌ ‌ 

‌P 1

P 2 =  M 2

M 1
a1

a2  

Now,‌  ‌  ‌=‌ ‌ ‌ ‌a1

a2  √T 1

T 2   

‌P 1

P 2 =  M 2

M 1 [ 2+( γ 1) M− 2
1

 2+( γ 1) M− 2
2
] 2

1

 

‌ 

‌ 
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‌ 

And‌‌you‌‌get‌‌ ‌and‌‌ ‌is‌‌now‌‌just‌‌use‌‌the‌‌ideal‌‌gas‌‌equation‌‌of‌‌state,‌‌P‌‌=‌‌ρRT.‌‌So,‌‌or‌‌ρ‌‌is.‌‌      P 1

P 2     ρ1

ρ2                                    

So,‌ ‌ρ‌  ‌=‌ ‌  ‌.‌ ‌ ‌P
RT    

‌   ρ1

ρ2 =   P 1

P 2
T 2

T 1  

‌ 

 ‌(Refer‌ ‌Slide‌ ‌Time:‌ ‌14:46)‌ ‌ 

‌ 

Now‌‌what‌‌about‌‌total‌‌pressures,‌‌change‌‌in‌‌total‌‌pressure‌‌or‌‌ratio‌‌of‌‌total‌‌pressures‌‌ ?‌‌That‌‌                            P 01

P 02    

can‌ ‌be‌ ‌expressed,‌ ‌ 

‌ P 01

P 02 =  
P1

P01

P2

P02

P 1

P 2  



Locally‌ ‌at‌ ‌that‌ ‌particular‌ ‌point,‌ ‌the‌ ‌definition‌‌of‌‌stagnation‌‌conditions‌‌is‌‌always‌‌through‌‌an‌‌                           

isentropic‌ ‌process.‌ ‌So,‌ ‌ ‌is‌ ‌an‌ ‌isentropic‌ ‌process‌ ‌that‌ ‌is.‌ ‌And‌ ‌ ‌is‌‌again‌‌an‌‌isentropic‌‌      P 2
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process.‌ ‌So,‌ ‌those‌ ‌can‌ ‌be‌ ‌expressed‌ ‌in‌ ‌terms‌ ‌of‌ ‌isentropic‌ ‌processes.‌ ‌But‌ ‌ ‌comes‌ ‌from‌‌                        P 1
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Fanno‌ ‌flow‌ ‌equations.‌‌ ‌  

So,‌  ‌   ‌can‌ ‌be‌ ‌expressed‌ ‌in‌ ‌terms‌ ‌of‌ ‌M‌ ‌‌1‌‌ ‌and‌ ‌M‌ ‌‌2‌ ‌P 01
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So,‌‌now‌‌so‌‌in‌‌these‌‌equations‌‌we‌‌have‌‌expressed‌‌every‌‌variable‌‌say‌‌ ,‌‌ ,‌ all‌‌in‌‌terms‌‌                        P 1

P 2    T 1
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of‌ ‌the‌ ‌Mach‌ ‌numbers‌ ‌across‌ ‌the‌ ‌Fanno‌ ‌flow‌ ‌through‌ ‌a‌ ‌duct‌ ‌of‌ ‌length‌ ‌L.‌‌ ‌  
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So,‌ ‌but‌ ‌what‌ ‌you‌ ‌would‌ ‌realize‌ ‌from‌‌all‌‌these‌‌is‌‌even‌‌if‌‌you‌‌know‌‌say‌‌M‌1‌ ‌and‌‌you‌‌want‌‌to‌‌                                       

find‌ ‌M2‌ ‌then‌ ‌dealing‌ ‌with‌ ‌these‌ ‌equations‌ ‌is‌‌not‌‌a‌‌straight‌‌forward‌‌and‌‌closed‌‌form‌‌sort‌‌of‌‌                                 

getting‌ ‌solutions‌ ‌from‌ ‌them‌ ‌is‌‌difficult.‌‌So,‌‌what‌‌is‌‌done‌‌is‌‌a‌‌simplifying‌‌procedure‌‌is‌‌done‌‌                               

that‌ ‌is‌ ‌makes‌ ‌use‌ ‌of‌ ‌the‌ ‌fact‌ ‌that‌ ‌if‌ ‌you‌‌consider‌‌a‌‌Fanno‌‌flow‌‌then‌‌there‌‌is‌‌a‌‌critical‌‌point‌‌                                       

which‌ ‌is‌ ‌this‌ ‌particular‌ ‌point‌ ‌star‌ ‌point‌ ‌for‌ ‌the‌ ‌fan‌ ‌of‌ ‌flow.‌‌ ‌  
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So,‌ ‌this‌ ‌star‌ ‌point‌ ‌the‌ ‌Fanno‌ ‌flow‌ ‌that‌ ‌is‌ ‌a‌ ‌flow‌ ‌through‌ ‌the‌ ‌duct‌ ‌drives‌ ‌whether‌ ‌it‌ ‌is‌ ‌in‌‌                                     

subsonic‌ ‌flow‌ ‌or‌ ‌supersonic‌ ‌flow‌‌it‌‌always‌‌drives‌‌towards‌‌this‌‌particular‌‌point‌‌where‌‌Mach‌‌                           

number‌‌equal‌‌to‌‌1.‌‌So,‌‌that‌‌can‌‌be‌‌taken‌‌as‌‌the‌‌reference‌‌point‌‌for‌‌a‌‌given‌‌Fanno‌‌curve‌‌there‌‌                                     

will‌‌be‌‌one‌‌particular‌‌one‌‌unique‌‌reference‌‌point‌‌which‌‌is‌‌the‌‌star.‌‌So,‌‌for‌‌that‌‌what‌‌we‌‌do‌‌in‌‌                                     

this‌‌is‌‌take‌‌that‌‌reference‌‌point‌‌as‌‌M‌1‌,‌‌M‌1‌ ‌is‌‌equal‌‌to‌‌M‌‌*‌‌=‌‌1.‌‌And‌‌the‌‌other‌‌point‌‌can‌‌be‌‌the‌‌                                             

any‌ ‌other‌ ‌point‌ ‌on‌ ‌this‌ ‌Fanno‌ ‌curve.‌‌ ‌  
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So‌ ‌when‌ ‌you‌ ‌express‌ ‌that‌ ‌it‌ ‌becomes‌ ‌ ‌.‌ ‌So,‌ ‌any‌ ‌expression‌‌say‌‌ ‌,‌ ‌if‌‌you‌‌take‌‌the‌‌              T
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reference‌‌point‌‌as‌‌the‌‌star‌‌point‌‌which‌‌for‌‌a‌‌Fanno‌‌curve‌‌there‌‌is‌‌that‌‌unique‌‌particular‌‌point‌‌                                 

where‌‌Mach‌‌number‌‌will‌‌be‌‌equal‌‌to‌‌1.‌‌Then‌‌you‌‌can‌‌express‌‌all‌‌the‌‌parameters‌‌in‌‌terms‌‌of‌‌                                   

this‌ ‌particular‌ ‌point‌ ‌that‌ ‌is‌ ‌the‌ ‌sonic‌ ‌point‌ ‌here.‌ ‌So,‌ ‌ ,‌ ‌ ,‌  ‌  ‌,.‌T
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Now‌ ‌these‌ ‌are‌‌functions‌‌only‌‌of‌‌γ‌‌and‌‌M.‌‌similarly‌‌if‌‌you‌‌look‌‌at‌‌the‌‌term‌‌ ‌if‌‌you‌‌take‌‌                                D
4f L ′        

this‌‌L‌‌such‌‌that‌‌if‌‌you‌‌begin‌‌from‌‌a‌‌point‌‌it‌‌always‌‌goes‌‌if‌‌you‌‌take‌‌a‌‌certain‌‌length‌‌of‌‌duct‌‌                                         

such‌‌that‌‌at‌‌the‌‌end‌‌of‌‌the‌‌duct‌‌you‌‌get‌‌Mach‌‌number‌‌equal‌‌to‌‌1‌‌then‌‌this‌‌particular‌‌length‌‌of‌‌                                       

duct‌ ‌is‌ ‌known‌ ‌as‌ ‌the‌ ‌star‌ ‌length‌ ‌,L*‌ ‌So,‌ ‌this‌ ‌given‌ ‌here‌ ‌L*.‌ ‌x‌ ‌is‌‌equal‌‌to‌‌L*.‌‌Then‌‌in‌‌the‌‌                                         

momentum‌‌equation‌‌what‌‌you‌‌get‌‌as‌‌ ‌that‌‌is‌‌what‌‌we‌‌had‌‌derived‌‌earlier‌‌can‌ ‌be‌‌written‌‌            D
4L*                      

in‌ ‌terms‌ ‌of‌ ‌γ‌ ‌,L‌ ‌and‌ ‌M.‌ ‌ 
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Now‌ ‌these‌ ‌are‌ ‌functions‌ ‌of‌ ‌M‌ ‌only.‌ ‌And‌ ‌they‌ ‌are‌ ‌tabulated‌ ‌behind‌ ‌textbooks‌ ‌or‌ ‌there‌ ‌are‌‌                               

calculators‌ ‌online‌ ‌which‌ ‌can‌ ‌give‌ ‌you‌ ‌values‌ ‌of‌ ‌these‌ ‌star‌ ‌quantities‌ ‌these‌ ‌star‌ ‌quantities‌‌                           

when‌‌you‌‌give‌‌an‌‌input‌‌of‌‌Mach‌‌number.‌‌So,‌‌now‌‌they‌‌become‌‌charts‌‌or‌‌tables‌‌which‌‌we‌‌can‌‌                                   

refer‌ ‌to.‌‌ ‌  
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So,‌‌how‌‌will‌‌we‌‌solve‌‌equations‌‌or‌‌solve‌‌problems‌‌when‌‌we‌‌are‌‌doing‌‌them‌‌actually.‌‌When‌‌                               

we‌ ‌solve‌ ‌them‌ ‌that‌‌is‌‌usually‌‌what‌‌would‌‌be‌‌given‌‌is‌‌friction‌‌coefficient‌‌will‌‌be‌‌known‌‌say‌‌                                 

length‌‌of‌‌the‌‌duct‌‌is‌‌known.‌‌And‌‌the‌‌initial‌‌conditions‌‌are‌‌given‌‌at‌‌the‌‌start‌‌of‌‌the‌‌duct‌‌which‌‌                                     



is‌‌the‌‌duct‌‌is‌‌of‌‌length‌‌L‌‌then‌‌point‌‌1‌‌and‌‌2‌‌what‌‌we‌‌know‌‌is‌‌M‌‌‌1‌,‌‌P‌‌‌1‌,‌‌T‌‌‌1‌.‌‌So,‌‌we‌‌will‌‌know‌‌                                                   

ρ‌1‌‌ ‌and‌ ‌L‌ ‌is‌ ‌given.‌‌ ‌  
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So,‌‌the‌‌way‌‌to‌‌go‌‌about‌‌solving‌‌this‌‌problem‌‌is‌‌if‌‌you‌‌view‌‌this‌‌in‌‌a‌‌Ts‌‌diagram‌‌it‌‌will‌‌be‌‌very‌‌                                           

useful.‌‌So,‌‌it‌‌will‌‌of‌‌this‌‌kind.‌ ‌So‌‌this‌‌is‌‌the‌‌maximum‌‌entropy‌‌point.‌‌You‌‌start‌‌with‌‌the‌‌point‌‌                                     

1.‌‌Now‌‌this‌‌is‌‌a‌‌unique‌‌reference‌‌point.‌‌So,‌‌this‌‌reference‌‌point‌‌L*‌‌is‌‌unique.‌‌So,‌‌if‌‌I‌‌take‌‌for‌‌                                       

point‌‌1‌‌this‌‌is‌‌L1‌‌*‌‌and‌‌as‌‌it‌‌flows‌‌through‌‌a‌‌duct‌‌of‌‌length‌‌L‌‌it‌‌reaches‌‌point‌‌2.‌‌For‌‌point‌‌2,‌‌                                             

the‌ ‌L*‌ ‌is‌ ‌over‌ ‌here‌ ‌this‌ ‌is‌ ‌L,‌ ‌L2‌ ‌*.‌‌ ‌  
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So,‌‌what‌‌is‌‌L?‌‌So,‌‌L‌‌is‌‌actually‌‌because‌‌we‌‌are‌‌taking‌‌ ‌that‌‌is‌‌ or‌‌ that‌‌is‌‌a‌‌constant‌‌it‌‌is‌‌                         f  ′        f  ′    f  ′            

the‌ ‌average‌ ‌friction‌ ‌.‌‌ ‌  
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‌So,‌ ‌with‌ ‌this‌ ‌equation‌ ‌basically,‌ ‌so,‌ ‌L‌ ‌is‌ ‌equal‌ ‌to‌ ‌L1‌ ‌*‌ ‌-‌ ‌L2‌ ‌*.‌ ‌So‌ ‌with‌ ‌this‌ ‌particular‌‌                                       

equation‌ ‌you‌ ‌can‌ ‌connect‌ ‌to‌ ‌the‌ ‌two‌  ‌L*‌ ‌or‌ ‌the‌ ‌  ‌this‌ ‌particular‌ ‌expression.‌‌ ‌D
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And‌‌this‌‌will‌‌be‌‌tabulated‌‌and‌‌from‌‌there‌‌we‌‌can‌‌extract.‌‌So,‌‌if‌‌you‌‌know‌‌this‌‌particular‌‌value‌‌                                   

which‌‌is‌‌known‌‌because‌‌M1‌‌‌is‌‌known‌‌since‌‌L‌‌is‌‌known‌‌this‌‌value‌‌is‌‌known‌‌therefore‌‌you‌‌can‌‌                                   

find‌‌out‌‌ ‌for‌‌the‌‌point‌‌2.‌‌once‌‌you‌‌know‌‌that‌‌you‌‌can‌‌back‌‌calculate‌‌or‌‌you‌‌look‌‌at‌‌the‌‌    D
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charts‌‌and‌‌get‌‌what‌‌is‌‌M‌2‌?‌‌Once‌‌M‌2‌ ‌and‌‌M‌1‌ ‌are‌‌known‌‌then‌‌it‌‌is‌‌easy‌‌to‌‌find‌‌all‌‌the‌‌remaining‌‌                                         

quantities.‌‌ ‌  
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So,‌‌that‌‌is‌‌how‌‌the‌‌problems‌‌are‌‌solved.‌‌And‌‌we‌‌look‌‌at‌‌problem‌‌solution‌‌very‌‌soon.‌‌Before‌‌                                 

we‌‌look‌‌at‌‌that‌‌in‌‌the‌‌next‌‌class‌‌we‌‌look‌‌at‌‌an‌‌important‌‌concept‌‌which‌‌is‌‌known‌‌as‌‌choking‌‌                                     

due‌‌to‌‌friction.‌‌So,‌‌we‌‌had‌‌seen‌‌choking,‌‌mass‌‌flow‌‌choking‌‌due‌‌to‌‌changes‌‌in‌‌area‌‌varying‌‌                                 

area.‌ ‌Now‌ ‌here‌ ‌if‌ ‌you‌ ‌look‌ ‌at‌ ‌frictional‌ ‌flows‌ ‌also‌‌there‌‌is‌‌a‌‌choking‌‌involved‌‌and‌‌we‌‌will‌‌                                   

look‌ ‌at‌ ‌that‌ ‌in‌ ‌the‌ ‌next‌ ‌class.‌ ‌ 
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